Note :

DEPARTMENT OF GOVERNMENT EXAMINATIONS, CHENNAI-6
HIGHER SECONDARY FIRST YEAR MAY-2022
CHEMISTRY ANSWER KEY

1. Answer written with Blue or Black Ink only to be evaluated.
2. Choose the most suitable answer in PART-1 from the given alternatives
and write the option code and the corresponding answer.

PART- | TOTAL MARKS-70_Answer All
the Questions 15x1=15
Type -A Type -B
Q. option Answer Q. Option Answer
No No
1 (c) CgH s 1 (a) 1P +2n
2 (b) [-2°C 2 () | (1)-(iv), 2-(iii),3-(i),4-(ii)
3 (@) | -C(CHsz)3>-CH(CHs)2 > 3 (b) | NO
.CH>CHs> -CH3
4 (b) | NO 4 (c) mass
volume
(d) | Both assertion and reason are 5 () |CsgH1s
true but reason is not the correct
explanation of assertion.
6 (c) mass 6 (@) | Lithium
volume
7 (b) | for asystem at equilibrium Qis |7 (@) | -C(CHgs)3>-CH(CHj3), >
always less than the equilibrium .CH>CH3> -CH3
constant.
8 (c) | (1)-(iv), 2-(iii),3-(i),4-(ii) 8 (c) | stark effect
9 (a) | Lithium 9 (b) | for a system at equilibrium Q
is always less than the
equilibrium constant
10 (b) | MgCl> 10 (d) | tautomers
(b) | Resonating structures
11 (@) [ 1P+2n 11 (b) | MgCly
12 | (a) |0,* 12 (b) |-2°C
13 | (c) | stark effect 13 | (a) |0,*
14 (d) | near the hydrogen Chloride 14 (d) | Both assertion and reason
Bottle are true but reason is not the
correct explanation of
assertion.
15 (d) | tautomers 15 (d) | near the hydrogen Chloride
(b) | Resonating structures Bottle

PART - Il

Note: Answer any six questions. Question No.24 is compulsory 6x2=12

16

Gram equivalent mass
Correct definition (or)
Gram equivalent mass =

molar mass

Equivalence factor
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17

8

2n?

18

Covalent hydrides

(i) electron precise

(i) electron deficient

(iii) electron rich hydrides
(or)

any two correct
(or)

any one correct

12

19

Conditions for the Spontaneity
AH<0 AS>0 AG<O
(or)
AH=-ve A S=+ve AG=-ve
(or)
Explanation
any two condition correct
(or)
any one condition correct

12

20

Sign convention of heat

Surrounding heat _System q = +ve (or) Heat absorption

System heat _ Surrounding q = -ve (or) Heat Emission
(or)

any correct explanation

21

4NO+6H20 42 4NH3+502

22

Correct definition

23

CH3CH,Cl Zn/HCI (or) Ni/Pd  CHs - CHs

[H]
(or)
Explanation (or) Reduction

N (NN

24

Ce Hs Cl + 2 NH; 250°C  CgHsNH, +NH4CI
50 atm

C5 H5 Cl+2Na+ Ce H5 Cl etZer C6H5 -CaH5 +2 NaCl
(or)
Aniline and Biphenyl - name (or) structure (or) formula

Note :

PART -l
Answer any six Questions  Q.No. 33 is Compulsory

6x3=18

25())

(i)

QOQ Xx-4=0

X=+ 4 C=+4 (or) 4
H2§O4 2+ x-8=0

X=+6 S=+6 (or) 6

Substitution only

1
112
1+1

26

Electron affinity _ B
Correct definition (or)A+1le —> A +EA
(or) atom + electron ——Negative ion + Electron affinity

27

Dalton’s law of partial pressure
Correct definition (or) P iotal = P1+P2+P3+ «eveeeennens
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28

AP WgxM PIWgExM
— = B A (Or) MB — AVVB A
Py Wp XMp AP X Wp

29

HF- molecule formation

H - electronic configuration 1 S’

F - electronic configuration 1 S? 252 2P°

o - bond formation or sp overlapping
(or)

orbital overlapping diagram

30

Optical isomerism
Correct definition

31

Nucleophile, electrophile difference
Any Three differences

32

CHz=CH, + H,O _Cold dil alkaline KMnOs CH2-|CH2
(0) ] I
OH OH

(or)
mentioning the Correct colour change

explanation only (or) ethylene glycol (or) formula

33

Ko = [NH3]? (or) Nz +3H> — 2Nk
[N2] [He]

Ke =1.8x102 x 1.8x107
1.2 x10° x(3x10%)®
Ke = 1x10% L2 mol?

Yot/

Note :

PART-IV
Answer all the Questions 5x5=25

34 (a)
(i)

(ii)

16
N- Electronic configuration 1 s? 2s? 2p°
Orbitial diagram for Nitrogen

ik

152 282 2p,'2py'2p,’

—

(b)

Pauling method for the determination of ionic radius
d =r¢.+ra.(or) Explanation
fer & 1
Z (eff) C*
A" a 1
Z (eff) A~

Z(eff)=2Z-S
rC* - Z(eff) A"
raA Z (eff) C*
On solving the above equation’s value of r.,and ra~ can be
obtained

iz

iz

Any two reasons for Anamolous behaviours of Beryllium

Any three Properties of Beryllium which are different from other
elements

2x1

3x1 | 5
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(b) Characteristics of internal energy any Five
(i.e) extensive property, state function, AU = Ui- U;
AU gpoic =0, AU =U;- Ui =-ve, AU = Us- U= +ve o
(any five )
36 (a) | m = Number of moles of solute x 1000 1
Weight of solvent in grams
Number of moles of solute = Wg 1
Mg
m = Wgx 1000
- 1 5
MB X W/.\
ATy, =KexWgx1000 (OR) AT, am (or)ATp= Kpm 1
MB X WA
MB = KbX WBX 1000 1
A Tb X WA
(b) | Bond Length 2
Bond Angle 1 5
Bond Enthalpy 2
37(a) | (i) Xa-Xg =1.7 50% ionic Character 1
(i) Xa - Xg > 1.7 more than 50% ionic Character 2 5
iii) Xa - Xg < 1.7 less than 50% ionic Character 2
(b) | (i) 2 - bromo - 3 - methyl butane
(ii) methoxymethane
(iii) 2 - hydroxybutanal 5x1 | 5
(iv) 1,3 - butadiene (or) Buta 1,3 - diene
(v) 4- Chloropent - 2 yne (or) 4 — chloro 2 pentyne
38 (a) Ce He con HNOg Ce H5- NO, +H-O 2
(i) con HxSO4
330K
explanation only ............ 1
Ce He con HSOy4 Ce H5- 803 H +H,0 2
’ 5
(i) | explanation only ............ 1
Ce He +3C|2 uv ICG Hs - C|6 1
(i) | explanationonly ............ Y2
(b) |CHz = CHy +HClI — CH3CH, ClI 1
(A) (B)
CH3; CH, Cl +NHz; — CH3 CH2 NH2 + HCI 1
(B) (C)
A - CHz = CH: (or) ethylene 1 5
B -- CH3zCH.Cl (or) ethylchloride 1
C -- CH3CH2. NH. (or) ethylamine 1
(or)
common name (or) [IUPAC name ( or) formula only 3
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